PHONG GIAO DUC & PAO TAO PE KIEM TRA HQC KY II

HUYEN TU KY (Thi thet twyén sinh vao 16p 10 THPT)
Nam hoc 2017-2018
A-DHO1-HKI19-1718 Mon: TIENG ANH - LOP 9

Thai gian lam bai: 60 phut
(bé nay gom c6 03 trang)

A. VOCABULARY - GRAMMAR - LANGUAGE FUNCTION

I. Choose the best answer among A, B, or C to complete the sentences. (3.0 pts)

1. Let’s go to the beach this weekend, ?

A. shall we B. do we C. will we

2. Nowadays we often buy the products Viet Nam.

A. made from B. made in C. made of

3. Money is used and selling goods.

A. to buy B. to buying C. for buying

4. 1’d like Ao dai because it is both traditional and .

A. fashionable B. fashionably C. fashion

5. My parents ordered us it again because it isn’t good.

A.don’tdo B. not do C. notto do

6. Susan couldn’t help when I told her the joke.

A. laughing B.laugh C. to laugh

7. On the way to the village we saw a man with his buffalo.

A. feeding B. plowing C. raising

8. the exercise was easy, Little John could do it in a short time.

A. Therefore B. Even though C. Because

9. My cousin had her shoes by her father last week.

A. repaired B. repairing C. repair

10. The students are reading the books are on natural disasters.

A. who B. whom C. which

11. “Have a nice weekend!” _*“

A. Ok. Yes, please B. No. Thanks. C. Thank you.The same to you.
12. “Thank you very much for your help’. *

A. It’s my pleasure. B. Well done! C. There is nothing I can do about it.
13. ‘What’s Melanie like?”_“ "

A. She’s very well B. She’s very nice. C. Oh, she’s fine, thanks.

14. “Congratulations! Your proposal won most votes!” _ * "

A. The same to you. B. Congratulations! C. Thank you very much. That’s great.
15. “You stepped on my feet!” “

A. | am terribly sorry. I didn’t mean it.  B. Don’t mention it. C. That’s not what | mean.
I1. Choose the underlined word or phrase in each sentence that needs correcting. (1.0 pt)

16. Would you mind to give me a hand with the heavy bag?
A B C D

17. Physics are very difficult for students to learn.
A B C D




18. | bought a computer which screen was not very good.

D

C D

D

A B C
19. My daughter likes watching cartoon films, and so are my sons.
A B
20. Although being ill, Peter still went to school last Monday.
A B C
B. READING

I. Which notice (A-H) says this (21-25)? Do the matching. (1.0 pt)

21. You can get a car at any time.

22. You pay the same price but you get
more.

23. In the evening, children may not
come in.

24. There are two prices for tickets.
25. You can buy food here on Sunday.
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L NO SMOKING SECTION

I1. Choose the word which best fits each gap of the following passage. (1.0 pt)

Television is a major (26) of communication. It brings pictures and sounds from
around the world into millions of home. Through television, viewers can see and learn about
people, places and things in far away lands. Television widens (27) knowledge by

introducing us to new ideas which may lead us to new hobbies (28) recreations.

In addition to the news, television provides us (29)

satisfy every taste. Most people now seem to like spending their evenings (30)

television. It is more convenient for them to sit at home watching television than to go out for

amusements elsewhere.

26. A. mean B. means
27. A. their B. his

28. A. and B. but

29. A. for B. with

30. A.watch B. to watch

C. meaning
C. our
C.so

C. by

C. watching

a variety of programs that can



I11. Read the passage and choose the best option. (1.0 pt)

Britain is now a highly industrialized country and there are only 238,000 farms in the
UK. More and more farmers leave the land because they can not earn enough money to
survive. Only large farms are economic and because of this most British farms are big. They
usually grow cereals in the east of England and raise sheep and cows in the north of England
and Scotland. The small family farms often have to earn more money by offering bed and
breakfast accommodation to tourists.

Farming methods in Britain have also changed. Fields used to be quite small, divided by
hedges which were sometimes a thousand years old and full of wild flowers and birds. Many
hedges were pulled up to allow farmers to use modern machinery. Now most fields in England
are large by European standards.

31. British farmers give up working on their farms because
A. they are tired of the farm work

B. they can’t earn their own living by farming

C. they are forced to leave the land

32. Most British farms are big because

A. farming is now industrialized

B. small farms are uneconomic

C. most British farmers are rich

33. The small family farms often offer bed and breakfast accommodation to tourists
A. because they want to have more tourists to their farms

B. in order to improve their earnings

C. so that the tourists will return in their farm the next time
34. Fields on British farms were

A. separated from each other by hedges

B. full of wild flowers and birds

C. Both are correct

35. Which of the following sentences is not true?

A. Industries are developed in Britain.

B. Many hedges are pulled down for farmers to expand their farms.
C. Most fields in England are now larger than they used to be.
C. WRITING

I. Finish each of the following sentences in such a way that is a similar as possible in
meaning to the original sentence (1.0 pt)

36. It's a pity that we can't play the piano well.
> L WIS o e e e
37. Their teacher gave them some more exercises on protecting the environment yesterday.



38. They said to her, “You must help us with these tasks now.”

L1153 V22 (o P
39. My sister last ate this kind of food two months ago.

= MY SISEE NS T . e e
40. If Lan doesn’t hurry, she will be late for the lesson.

I1. In about 100 - 120 words, write a paragraph about “Why we should have a day for our
Dad.”

You can use the following ideas. (2.0 pts)

- The reason for celebrating this day

- When to celebrate: in what season, what month.... about presents/ party/ picnic
- Hope the day will be celebrated nationwide



PHONG GIAODUC & DAOTAO  HUONG DAN CHAM PE KIEM TRA HOC KY II

HUYEN TU KY (Thi thet tuyén sinh vao 1ép 10 THPT)
Nam hoc 2017-2018
A-DHO01-HKI19-1718 Mon: TIENG ANH - LOP 9

Thai gian lam bai: 60 phut
(Huong dan cham gom co 02 trang)
A. VOCABULARY - GRAMMAR - LANGUAGE FUNCTION
I. Choose the best answer among A, B, C or D to complete the sentences. (3.0 pts)

1.A 2.B 3.C 4. A 5C 6. A

7.B 8.C 9.A 10.C 11.C 12. A

13.B 14.C 15. A

I1. Choose the underlined word or phrase in each sentence that needs correction. (1.0 pt)
16. B 17. A 18.B 19.D 20. A

B. READING

I. Which notice (A-H) says this (21-25)? Do the matching. (1.0 pt)

21. F 22. A 23.G 24.C 25.D

I1. Choose the word which best fits each gaps of the following passage. (1.0 pt)
26.B 27.C 28. A 29.B 30.C

I11. Read the passage and choose the best option. (1.0 pt)

31.B 32. A 33.B 34.C 35. A

C. WRITING

I. Finish each of the following sentences in such a way that is a similar as possible in
meaning to the original sentence (1.0 pt)

36. | wish we could play the piano well.

37. They were given some more exercises on protecting the environment by their teacher
yesterday.

38. They told her that she had to help them with those tasks then.
39. My sister hasn’t eaten this kind of food for two months.
40. Unless Lan hurries, she will be late for the lesson.

Il. In about 100 - 120 words, write a paragraph about “Why we should have a day for our
Dad.”

You can use the following ideas. (2.0 pts)
1. Céu tric: (0.5 pt)

- Viét ding m6 hinh mot doan van (Lién mot doan, ¢ cdu mé doan, phan than it nhat
phai c6 3 y hoac c6 thé hon, cau két doan)

2. Noi dung: (1.5 pts)

- Cau mo doan: 0.3 pt (Néu dugc tdm quan trong hodc y nghia ciia viéc to chirc ngay
cho cha)



- Phan than: 3y x 0.3/y = 0.9 pt

+ Néu dugc 1y do vi sao nén t chirc ngay nay: (0.3pt)

+ T4 chirc vao ngay ndo, thang nao va ly do visao:  (0.3pt)

+ T6 chirc nhu thé ndo (qua, tiéc hay dd ngoai ....):  (0.3pt)

- Phan két doan: 0.3 pt (Khang dinh lai lgi ich va mong muén moi nguoi tng ho khong)

Ghi chd: Sai mot 16i ngi phép trir 0.2 pt, mot 16i chinh ta trir 0.1 pt. Gido vién linh hoat
khi cham phan nay.
Suggestion:

In Vietnam, we don’t celebrate Father’s Day, so | think it is necessary to have a day for
our dad. Father’s Day is the occasion for children to express their feelings, memories and love
for their father. Moreover the celebration helps enhance the family traditions and bring the
family members to be closer. | think we should celebrate Father’s Day on the second Sunday
of July. Because the weather is fine and almost all people don’t have to go to work or school.
People who live apart can return home easily. On these days, we should have a party, clean and
decorate our parents’ rooms and give them some sweetheart gifts. We don’t need to buy some
expensive things because they can understand our love. Travelling around the country together
is a good idea. We should make a cake and give them best wishes. Therefore, we should
celebrate Father’s Day because they are big presents for our father and they will love us more.
| hope it will be celebrated nationwide and most people will join it.



